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NOTES: Section 9.1-9.6 REVIEW

Goals: #1 - [ can evaluate and approximate square roots.
#2 - 1 can solve a quadratic equation by finding square roots.
#3 - | can simplify radical expressions. " C;::) 3:\
#4 - | can graph a quadratic function.
#5 - | can use a graph to find or check a solution of a quadratic equation.

#6 - | can use the quadratic formula to solve a quadratic equation.

Section 9.1: Square Roots

Evaluate the following expression.
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Section 9.2: Solving Quadratic Equations by Finding Square Roots
Solve the following equations. Write your answer in simplest radical form.
1, x> =25 2. 3x* =108 3. —4x*-5=159
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Section 9.3: Simplifying Radicals

Simplify the following expressions.
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Section 9.4: Graphing Quadratic Functions 3

Date:
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Graph the function by completing the table. Identify the graph’s axis of symmetry (7\05)

vertex, and tell whether the graph opens up or down.
1. y=x*—4x-3

G D D S
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A0S: X =T
vertex: K‘L[_‘TB
y-int: (0 L 3)
opens: _U_R_
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Section 9.5: Solving Quadratic Equations by Graphing

Solve the quadratic equations by graphing. Identify the graph’s axis of symmetry (AOS),
vertex, solutions, and tell whether the graph opens up or down.

T — ;

lL.y=-x*+4

X700 - U T R
. | I = - -

vertex: (0, 4) HH T
y-int: (OIL{\ A 11

4 { \Y
opens: own» i 7 11
2.2
- oy ‘ .
lut : 4
solution/s __;_____;__ i -V a2 s "_‘&‘_‘ T

<
(o
Vo
.
W
-

2. y=x*-2x-3 o —HHHT : _
-0 2o O S
X=70 7700t 0 0 I

1
AOS: &" l i e Ht ﬁ% _ 1
/
Vi
¥

W\
[
|
|

|

vertex: ( l. ‘Lii) _ NS
\J $ !
/ -
y-int: KQI'E) 11
2l o . =L
opens | N O B I o A

{7 |25 P P

solution/s: "— I , 3 l : .
-1

al @'5 -11-310

Scanned by CamScanner



Name:

Hour: Date:

Section 9.6: Solving Quadratic Equations by the Quadratic Formula

Solve the quadratic equations using the quadratic equation. Write your answer in simplest

radical form.
1. —x2+3x-2=0
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